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V Semester B.B.M./B.B.A. Examination, October/November 2019

(Scheme": NRS 2014) (Freshers of Nov./Dec. 2016 & onwards
BUSINESS STATISTICS -1

Time : 3 Hours Max. Marks : 80
Instruction : Answer all parts.
DR Arnens 3oL,

PART - A
D) | Sl

Answer any Three questions 15 marks each:
ciePmeade 3 IZAen wuIDA0. I 15 VoI,

Q1) Explain the characteristics functions and limitations of statistics.
TOSRIRT CTRNW, RORFAWD T 3N, I[OXD.

Q2) Calculate mean, median and mode from the following data:

Wagesin I No. of Wages
: 100- 120 4
| 120- 140 10
140 - 160 .16
160- 180 29
l 180-200 52
200 - 220 80
220 - 240 32
240 - 260 23
260 - 280 17
280 - 300 7
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309 Tw. NYY 5930F 3T RO,
100 - 120 4
120 - 140 10
140 - 160 16
160 - 180 29
180 -200 52
200- 220 80
220- 240 32
240 - 260 23
260 - 280 17
280-300 7

03) A factory produces two types of machines. In an experiment relating to their
life. The following results were obtained.

Length of life (Yrs) M/CA M/CB

5-7 5 4

7-9 11 20

9-11 16 12

11-13 10 8

13-15 8 6

50 50

State:

a)  Which machine has a higher average life?

b}  Which machine has more variability?
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5-7 5
7-9 11 20
9-11 16 12
11-13 10
13-15 8 6
50 50

®) odwm oDeZW) T2, NOIRO IR 9B 22T337
D) oE Lo B WHLATEOR I, BROOT? 394,

Q4) Calculate co-efficient of correlation and its P.E: from the following data:

X Y | 20-30| 30-40 | 40-50 | 50-60 | 60-70 | Total
15-25 5 9 3 - - 17
25-35 - 10 25 - 37
35-45 - 1 12 2 - 15
45 - 55 - - 4 16 5 25
55-65 - - - 4 2 6
Total S 20 44 24 7 100

a:aagm;s dagoeﬁ% ABROLOT rbsafasa’ql D TT 2.9 O, FOWELROND.

Y 20-30
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N 30-40 | 40-50 [ 50-60 | 60-70 | =&
15-25 [ 5 9 3 - . 17
25 - 35 - 10 25 2 . 37
35-45 | - 1 12 2 . 15
45 - 55 : - 4 16 s 25
55-65 | - . - 4 2 6
2t 5 20 44 24 7 100
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Q5) From the data given below, you are required to:

a) Fit a straight line trend by the method of least squares.
b) Show the actual data and the trend line on a graph sheet.

¢) Calculate the production for the year 2019.

Year 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017

Production 180 190 192 183 194 199 192
1n Tonnes

1 3R BRuT TIoIHoT
®) BIFINF IPITBY XOYTeow T Boha, ForHBAND.
D) AxTNT BTO3T BB TR, Celnvm), 2,000 M BHISORY 30020,

) 2019 e BHFE TN, FOBELBOND.

SRF 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017
TTT 180 | 190 | 192 | 183 | 194 | 199 | 192
RANYY

PART - B

A

Answer any two questions 10 marks each:

OIRFTRTTR QTE &‘_S)ES&IWT? eu3dA. 2o 10 e0BTI%0.

Q6) What are the methods of collecting primary data? Explain.

TRENT TIOITNY TONBEs0 DHIATEY, DROA.
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Q7) Calculate quartile deviation and co-efficient of quartile deviation from the

following data.

Wages above I

No. of workers

| 50 140
| 150 133
| 250 125
350 115
450 85
550 45
650 20
| 750 10
850 3
¥NOG SobIcwon BRPrE DPOF DX WHHFE dtodod eI,
SOTLACD.
g0 dne. NYY FoNF IS N0
dn. 50 eewy 140
" 150 " 133
" 250 " 125
"~ 350 " 115
" 450 " 8s
" 550 " 45
" 650 " : 20
750 " 10
" 850 3

-5.

https://www.uomonline.com

WOd auUIfuOwoN mmm//:sdny



WO duIfuowon” mmm//:sdny

https://www.uomonline.com

30617 M-8682

08) Calculate the co-efficient of rank correlation from the following data:

X 39 | 65 62 90 82 | 75 25 98 36 | 78

Y 47 | 33 58 86 62 | 68 60 91 51 34

FRLIT cdsgooaim'}ﬁ c'aéoafl AT/ROWOT rbsaéwm% TORHLBOWG.

b

09) From the following data, calculate
a) The two regression equations.

b) The value of ‘X’ when Y = 75.

X Y
Arithmetic Mean 36 85
Std. Deviation 11 8

Co-efficient of correlation in 0.66
1 F¥NAS BFDOBNTOW
D) A0 HCBOIOH FWeTTN FoRLAMD.,

D) VS 86 75 ehpR, X8 99 3ombtend.

X Y
N33 [ooxd 36 85
9’% W3O 11 ‘ 8

HBHOWOF o3 0.66 SNTIT.
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PART - C

TN — 2

Answer all the goestions 5 marks each:
Ry JJAeRS w3DA. 3T 3 ©CINK.

Q10)Calculate the Harmonsc Mean
5, 10, 75, 130, 500, 0.50.
TOITF HOTROCRTL, EOELBAND.
5, 10, 75, 130, 500, 0.50.

Q11)Calculate the GM.
75, 5, 0.8, 0.08, 0.005.
Lre80 JIHOCH, TOWLRNO.
75, 5, 0.8, 0.08, 0.005.

Q12)List the types of correlation.
DDF IBIOWOTNY IWIHA.

Q13)What are the components of time series?

WROHBCL BOMROBNTRTYY?

Q14)Calculate mode, when median = 38 and mean = 46.
200 THROITY z:bc%ﬁ = 38 Xoomd = 46 Shlaply u&@ﬁqul IO & BOWD.
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